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CBSE Class 12 Biology Question Paper 2014
sita fasm &f~®)
BIOLOGY (Theory)
T CLASS-XII AFfermag 3% - 70
Time allowed : 3 hours Maximum Marks : 70
am=a @ :

i) T 39T S & |

(i) FIIT-TH IR @A B, C 3D &1 TSA T8 597 & Fd 9%
# TF 3% § @SB 710 597 & 74 59% & § 3% &, TS C H
9 T BN 597 F dlT 3F & 7 @ve D ¥ 3 y7 & R 59%F &
qier 3% & |

(iii) FF GHT TI3-faaeq (a3 T59) 39a & 8 | fax o, 2 JfaH &
TF J9T H, 3 el ard TF §IT F IN 5 HF g gt @A gva § diadt
TH-faFe 6T 7T & 1 909 FvA 7 famrf @ a9 TF & ey & ¢ v
g

(iv) @ 5 3MavqF: &, FT 7 ad FREG TH-GAR A TYEIA €Y & AHEA
& !

General Instructions :

(1)  All questions are compulsory.

(ii) This question paper consists of four Sections A, B, C and D.
Section A contains 8 questions of one mark each, Section B is
of 10 questions of two marks each, Section C is of 9 questions
of three marks each and Section D is of 3 questions of five
marks each.

(iit) There is no overall choice. However, an internal choice has been
provided in one question of 2 marks, one question of 3 marks and
all the three questions of 5 marks weightage. A student has to
attempt only one of the alternatives in such questions.

(iv) Wherever necessary, the diagrams drawn should be neat and
properly labelled.
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SECTION A
1. 3 I ANFFEIT F UF IS IR0 F AT Ser & 2 1

Why is banana considered a good example of parthenocarpy ?

2. WG AR ¥ foeell (wfier) & @ Srer-3ter yfFed Sasy | 1

State two different roles of spleen in the human body.

3. & 3gH "X 1Y F i (UWaa) The J ot | T SSIfA & Uw 1
¥ g T G AN | 3 e fF9vs (22) FH-IH ¥ 7, ggEfA | 1

A garden pea plant produced axial white flowers. Another of ‘the
same species produced terminal violet flowers. Identify the dominant
traits.

4. IO tfEds (FRfafes FAad) ¥ S T ¥ dfed W & 39 fwa
I F AgR Bar g ? 1

Why is it desirable to use unleaded petrol in vehicles fitted with
catalytic converters ?

5. Ul § onfies  (WGRGM)  AWe W= SR U8 9 @ 2 3§ F Fd g,
fafaw | 1

Where is acrosome present in humans ? Write its function.

6. Fmfafes & 7 fafau 1
(a) HYEEE-UITH & fou 39y Taifys amaa: 9 S arelt oyHeRdl weie
(b) I W FK T IAG F T T
Write the name of the following
(a) The most common species of bees suitable for apiculture

(b) An improved breed of chicken
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7.

10.

11.

12.

FHE S UG A W § U@ & o9 U 99 At @Ed R o @R
frem & gl § 39 goHar ¥ w0 = R o @ 2

Comment on the similarity between the wing of a cockroach and the
wing of a bird. What do you infer from the above, with reference to
evolution ?

TF S9-3E & 7 ¥ fguAneefE # 9 a9t

Mention the role of cyanobacteria as a biofertiliser.

Qg B
SECTION B
(a) UH Hf=Hy (FFaddn) § U T THiea 3G §915Y |
(b) &% @ @S 2 W BRI # T AAE 6V A TR F G a7 8 2
(a) Draw a neat labelled diagram of a nucleosome.

(b) Mention what enables histones to acquire a positive charge.

ST T (FALIA) F TE A 7 TH AAT TRy |

State one advantage and one disadvantage of cleistogamy.

(a) WA H W9 F fAU dodl F1 oy F7i T gar § 2
(b) o foye i Fawa TV (FAEH) F IH & H TeEql ¢ 2
(a) Where do the signals for parturition originate from in humans ?

(b) Why is it important to feed the newborn babies on colostrum ?

(a) o ARMGSS GORT & 9 F iR T FIC MW TE dfsad 6 F I
AN aRE (IR W TG 9@ F iR =@ &0 @ o R | oS9
fafy & fawa & FogmT 9% §0 PEFN F@tE & R-GREE S
¥ I 994 3 H germa fHad @

(b) wFF FA & 39 fafy ® T “FE fAferE 9 S S R 2

4
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13.

14.

15.

BYJU'S

Learning App

(a) A recombinant vector with a gene of interest inserted within the
gene of a-galactosidase enzyme, is introduced into a bacterium.
Explain the method that would help in selection of recombinant

colonies from non-recombinant ones.

(b) Why is this method of selection referred to as “insertional

inactivation” ?

T 3T d g THARY 5 S Weifgar fHQ @ed & | 2

Explain brood parasitism with the help of an example.

frefafgd & favg # s@F &1 SR a6 2
(a) WFE U1 IR T F IR feod A E

(b) B SHal N 5 mufradl R sfAFIT TR Fa T 2

Give reasons for the following

(a) The human testes are located outside the abdominal cavity.

(b) Some organisms like honey-bees are called parthenogenetic
animals.

T fFE W ¥ I A 2, W AR | EH gEEE & 9 # TR Y TR

yfad g @ 2 2
Jgqr

el ¥ T 9 A adEEd (fermeed) & 3 faew oy & 9w fafa

s fEa ¥ g SgA-aA ofiie fRg R B g @ 2

Name the plant source of ganja. How does it affect the body of the

abuser ?

OR

Name the two special types of lymphocytes in humans. How do they
differ in their roles in immune response ?
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16. (a) THS ¥ ADA & 37WE & R FRUT aldl @ a9 3§ 3WE & HRU FHi
2B-d7 ywifaq B @ ?
(b) 39 TBF (AFRN) & AW ffgr 58 A=al & ADA-DNA & sidskar
Fifyrwel ¥ WHeRa &3 ¥ g9 Har Sar @ | I S grelt. S
&1 W faf@ga | 2

(a) Mention the cause and the body system affected by ADA
deficiency in humans.

(b) Name the vector used for transferring ADA-DNA into the
recipient cells in humans. Name the recipient cells.

17. aneR & wfes don fmfar 3ewe @ 3 wifies 3rfire & sgr X o arell
qdd dgdl Sl 99 & 69 YR gauE fmar ? 2

How did Ahmed Khan, plastic sacks manufacturer from Bangalore,
solve the ever-increasing problem of accumulating plastic waste ?

18. fAO @R (FA%EE) I FW o sKifEw &1 9 ey | T @ efw
Ineger fafee | 98 U o fedi o S gEiia el @ 2 2

Name the bacterium that causes typhoid. Mention two diagnostic
symptoms. How is this disease transmitted to others ?

g C
SECTION C
19. (a) ABQ T g I 3R od gL 9g Uolioal od gewdfaar &t wReed
THART |
(b) f(rafafEd & T=oEY (BERY) T49RT :
(1) B
i) 2t 3

(a) Explain the phenomena of multiple allelism and co-dominance
taking ABO blood group as an example.

(b) ~What is the phenotype of the following :
i A

(11) L1l
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20, 3R HIA YT (AAAHsA) @ T & APiad =0T & Ad & 69 FHRK qadT
foear & ? §RgRyY | 3

How does industrial melanism support Darwin’s theory of Natural
Selection ? Explain.

21. (a) WAV & aifed ¥ R 3 T9-7R 2 g 1 H FhAa X H TGl
A ffeq ;wdwn & 71 32 & 2

(b) T H g wdFET F GO ¥ TEEA F I Gt fafy gugisw | 3

(a) What is the programme called that is involved in improving
success rate of production of desired hybrid and herd size of
cattle ?

(b)  Explain the method used for carrying this programme for cows.

22, fafefes & @ v & & GugmRT - 3
(a) wEiF-9 (HIfadiags)
(b) a7 &g
() w1 f&x

Explain the function of each of the following
(a) Coleorhiza
(b)  Umbilical cord

(¢)  Germ pores

23. WS W9 IURE (PCR) & 39a7 I qC fFet w s ST a3 &1 yauq
59 s&r @ s § 2 3

How is the amplification of a - gene sample of interest carried out
using Polymerase Chain Reaction (PCR) ?

24, frdt dfa A OFf%e9 B S 99 W HHe TR ¥ qoifE WSl & staq-9%
T T s 8, fafEw ) 3

Trace the life-cycle of malarial parasite in the human body when
bitten by an infected female Anopheles.
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25. DNA & gl Fefet ¥ & Y@ vl & gt FART | 3
Fga
E. coli & &% M7 & R @aTs 9 fFe yor ofmg gam & § ?

List the salient features of double helix structure of DNA.
OR

How are the structural genes activated in the lac operon in E. coli ?

26. I WA Wi @fus FHs gt & IR Wy wivis & fav s @aq
| fmg 99 I8N H TgEa ¥ 3§ S H 9 FST | 3

Alien species are highly invasive and are a threat to indigenous
species. Substantiate this statement with any three examples.

27. (a) FoAEEhmET gAFART ¥ TG @R W dErg & wHl W 90 &fF @ @ |
TWOAEA B A B < & T FERE S At orifa @ AW fafag ok

qaARY o |
(b) T=E F U d fFR Ade-fAiw Sk o a9y T F G swna e
WA 9 a%s (3F) & 99 fafEw | 3

(a) Tobacco plants are damaged severely when infested with
Meloidegyne incognitia. Name and explain the strategy that is
adopted to stop this infestation.

(b) Name the vector used for introducing the nematode specific gene
in tobacco plant.

s D
SECTION D

28. (a) @AW TR T T & TH-T&E A0 o 0BT fF 39 9 9
Sa-fafeyar & @ 5 vaR g 8 |

(b) o-fafayar & T 1 o 7 fafuar dosmE 5

Hgar
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@EWUS (a)  ORAITHUES (LATHW) ¥ ANH F [hew 89 g1 8 2 36/ 9Hd
e | 31 T9E T8A § 2
b) & ST @@-y@dr & R DDT & S9-3add 69 YR gar g,
IOAET | TH B ¥ uREl N wefy R weR wwifga 2t @ 2
(a) Taking one example each of habitat loss and fragmentation,
explain how are the two responsible for biodiversity loss.
(b)  Explain two different ways of biodiversity conservation.
OR
(a) What depletes ozone in the stratosphere ? How does this affect
human life ?
(b)  Explain biomagnification of DDT in an aquatic food chain. How
does it affect the bird population ?
29, M RE MR “a”F 47 7% & ol § 997 717 ¥ &3 arht Sigwrd geaet H

Suea <l T 2

(b)

(c)
(d)

(a)

(b)

W @ 7 F wgan FfST o sy Sgfeas gufar R o 39 Oy
(freged) el &1 a7 faf@e @ o a3 wfaa & 2 |

iy wgfean @ fafire siaam Fd FaRT | W T MYE fFE OTER
i giaT @ 2 g9 g affard w4 7 2

“@” T “e” @RI F FT IR T ?

T EF F TF @o5 AWifhd NG T 15T | 5
rgan

wgad (Ffrmnd) § R o fieT @ e feea = w0 e @ 0
T ARk SRl # @ (Wikdl) FaRT |

feft T 3 Ui ST W & L.S. T @os JMifehd 3R@ FART |
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30.

The following is the illustration of the sequence of ovarian events
“a” to “1” in a human female

(a)

(b)

(c)

(d)

(a)

(b)

hefls

Identify the figure that illustrates corpus luteum and name the
pituitary hormone that influences its formation.

Specify the endocrine function of corpus luteum. How does it
influence the uterus ? Why is it essential ?

What is the difference between “d” and “e” ?

Draw a neat labelled sketch of Graafian follicle.

OR

Why is fertilisation in an angiosperm referred to as double
fertilisation ? Mention the ploidy of the cells involved.

Draw a neat labelled sketch of L.S. of an endospermous monocot
seed.

faffy g0 Pelmidrg TFH | T U yanr = vz e | 3@F T\

faa U faspd @ fqaem ST |

(a)

(b)

(c)

g4

. UEGA Yerzgm W Aeeu & O @l TS faNes (32) & ¥Y O T TH

TR GO THART | 39 0T & F, U@ d% & o ama @
HfFT |

T YFR & THW A A o TR O semfa g @le-e ¥ F,
fafaT

fadam g § F, G &1 S5vmEd 39 59 yeR f S @ 2
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Describe Frederick Griffith’s experiment on Streptococcus pneumoniae.
Discuss the conclusion he arrived at.

OR

(a) Explain a monohybrid cross taking seed coat colour as a trait in

Pisum sativum. Work out the cross upto F, generation.

(b) State the laws of inheritance that can be derived from such a cross.

(c) How is the phenotypic ratio of F, generation different in a dihybrid

cross ?
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